SGJ DAV SEN SEC PUBLIC SCHOOL, HARIPURA
Class- 3rd ( Assignment)
Date : 29-08-25

Instructions:
Dear Students,

We are sending you Homework. You have to solve this work in your notebook in
a neat and clean way. You have to submit this work after the opening of school to
your Subject Teacher

English

1.Application for Urgent Piece of Work (5 Marks)
The Principal
SGJ DAV Senior Secondary Public School

Haripura
Subject: application for urgent piece of work at home
Respected Sir.

| am a student of Class 3rd . | have an urgent piece of work at home.So, | can not
come to school today. | request you to grant me leave for two days.
Thanking you
Yours obediently
[Name]
Class: 3rd
Roll No.: [Roll Number]
Date: 29.8.25
Q.2 Why did the tree allow the boy to cut its branches?( 2 Marks)
Ans. The tree allowed the boy to cut its branches because the boy wanted a house to
live in.
Q.3 What will happen if we treat the animals well? ( 2 Marks)
Ans. If we treat the animals well , we will be welcomed at the zoo by them.
Q. 4 How did the dinosaur in the museum look? ( 2 Marks)
Ans. It looked very big. It had a huge body, long neck and twinkling eyes.

Hindi

1. 931 g 37ea79eh fawg wR 3O o A< A fd@ | (4 37h)
3 fira 31eaTas® &1 A — &) g8 o9 &) fawa uera | a5 aga & wifa S iR curqaua & &

| 39 31T 35 a¥ & | 9& THRI HAT JANUDT &1 Ias HHG & UT6< & | T8 A1 HHG U Tped



31T §1 9% 95 €1 HIS HUS Ue-d ¢ | 96 9§d &1 B Pgl oid &1 I8 & 9§ & 37D e A 3R
A dd ¥ HUSIA & | T a1 AT ¥ 77 T Ugd &1 a8 86 HH)-5) He ot gae |
9% SURT HHY-HHY R GRS Hl 634 16 81 38 Gia & TRl pea & Ay e i da wd 2|
gs &1 nifafafer & arean | ugrd § | ¥pe 3 rafora srden § f&var & & fAu a8 sarr anfai=
HYd € | 9% 95 € $UHER 317 A A # | 98 TR a1 & Hae &d € | JHied & 99Y I8 FARY
HETAT & § | 98 TR & HHET &1 61d IAH A i ad € | 9l s AT T B £ |
MTTGT 3hT 31T oidl &Y |

2. AT 2371 MR fawg u? 377e0< 8o A= H fd | (4 31P)

AR 23T BT AT YRA # | 981 B¢ UBR b WTITY it 317t & | g $fSar 31k fegwar am A
STTET AT 8 | WRd 1 ATt T8 ot § | a8 uira gereia o faua? | saa! 15 37 1947 Y
HTFATE i) | YR U @dbdifad a0 € | #0RT AfGam 26 a3 1950 B @] §31T | T61 IR %
UfaeTfae Tue 2 | uRd &1 I a5t fam 21 39 U 24 difeal aren 31is O i 2 | uRa
W1 I W 31 70T 7 § | WRA DI I T HRA $9AT § | RA BT T gaft AR 8 | yRa
BT A SR G147 & | MIRA BT AT B 37 & |9IRd U Mfafsrd 320 & | vRa v i
FIA RN | MRAR AT T AN A A HR T | A A QA NRAR TS 2 |

Punjabi
1{&318"E°réwm$ww1%ta?%{m{€r6'ﬂ?? (2)
€39 -5 & WU WY 378 HY 58€ T @ a1 37
Yrs 2 T fan 99t R arget 3 a3t gerget 9 2 (2)
g3g-T<t 1 981 9 rE<t I 3 3 gErget I
YAs 3 Ufgdl 3 gl Hel 59 J 98 ggmit areh 2 (2)

€39 ufadt Hel 3 TrAT 38 {9 Udu Idl A 3 TAT! Hel 7 & Bufen Ot fer 397 8¢
JEt fAS Ha It
IT |
Maths
Q1. Convert 12 hours into minutes.
(2marks )

Solution: 1 hours = 60 minutes
12 hours =12 x 60
=720 minutes
Q2. Convert 15 hours into minutes. (2marks)

Q3. Raman sold 1022 pink kites, 989 red kites and 85 white kites one day. Find the total number
of kites sold. (3marks)

Solution: Pink kites =1022



Red kites = 989
White kite=+ 85
Total number of kitessold=2096

Raman sold 2096 kites in total.

Q4. Mr. Kapoor bought a washing machine for Rs 9000 and a chair for Rs 950. How much money

did he spend?
(5marks)

Q5. A man's monthly salary is Rs 9450. Find his yearly salary.
Solution: 1 year = 12 month
Man’s monthly salary = 39450
Man's 12 months’ salary =9450 x 12
= ¥1,13,400

Q6. A worker earns Rs 846 in one month. How much he will earn in one year.
(5marks)

Science
Q1. Give two examples of :-
A.Tree B.Herbs C. Shrub D.Climbers E. Creepers
Ans.A. Trees: Neem, Mango
B. Herbs: Tulsi, Mint
C. Shrubs: Rose, Hibiscus
D. Climbers: Grapevine, Pea plant
E. Creepers: Pumpkin, Watermelon
Q2. Write the functions of the followings.

1. Root

2. Flower

3. Leaf

4. Stem

5. Fruit

Ans. 1.Root-It fixes the plant in the soil.

2. Flower —It grows into a fruit

3. Leaf-It makes food for the plant

4. Stem- It carries all the other parts of the shoot
5. Fruit- It stores seeds

(5 Marks)

(5 Marks)

Q3. Write any two differences between shrubs and herbs . Give two examples of each.

(3 Marks)



Answer: differences between shrubs and herbs are:

Shrubs

Herbs

They have woody stem.

Stem of herbs are not woody.

They live for few years.

They live for one or two seasons
only.

Examples: Rose, cotton, Mehendi
efc.

Examples: Wheat, rice, Sunflower
etc.

Q4. . Write the names of some climbers or creepers that you have seen and where you
have seen them. What are they called in your language?

Answer:

Name of Climber  Name in My Language
1. Jasmine Chameli

2. Cucumber Kheera
3. Money Plant Money Plant
Name of the creepers

4. Muckmelon Kharbooja

5. Pumpkin Kashiphal

Where | Have Seen
In School
In Field
In My Home

In field
In the neighbour’s

Social Science

Q.1 What are some common activities that family members do together?

Ans.1. They can share meals together.

2. They can celebrate special occasions like birthdays and holidays.
3. They can watch TV, play games, or go on outings together.

Q.2 In what ways is you similar to your family members.

Ans.1. You might look alike (same eyes, hair, height).

2. You might have similar personalities (like a sense of humour).
3. You might like the same things (like music or sports).

4. You might share similar values (like kindness or respect).

Q.3 Name three food items that we get from animals.
Ans.1. Milk (from cows, goats, or buffaloes)

2. Eggs (from chickens or ducks)

(3 Marks)

3. Meat (from cows, chickens, pigs, or other animals).

(5 Marks)

(3 Marks)

(3 Marks)



